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��� 681.5 

����. �.�. 	
��
���, 	. �. ���
��
�

�����. ��
. ���. �.�. ������
�
(
������ �������
���

 ���
������������  

��������� 
 ���
�������


, 	� �) 

������������	 �
����
� ����
����

 ���������� !��!���! �������������� ���������� 
 ����� 
�-

���"������ ���������� ��
 ��������

 �������#
���

� ���������. 

$�����
� �������� ���������������
, �.�. �������� �������
 ����� ��

����% ����
 ���� 
 ���#�% 
�
 �� ����#� ���� 
 ���#���, �����!&����!

� ����

�������

 � ������, �� ����% ��&����
 ���'��� ��
�����
!

����
��"��#� �������
���
�#� ��������. (������ ������������
, 
�
 


��!
�� �
�
���
�� !����
�, ���
���
��� �� ������
 
 � ������������ 


����
���
�����! (� �'&�� ������) ������
������% ���������������-

��������% ���
�
�% ����������� f(x, y, z, t) , #�� x, y, z — ����������-

������ 
����
���� � ��
������% �
�����, t — ����!. ����
������"

������
% ����������� �� ����� �')��� ��������
�����#� ���� � ��-

���"��% ������ ������
 ���������! ������������� �����.  

� ����

 ���������������
 ����
���� ����
������� 
 �����-

�
������� ������������� ����. ����
������� ������������� ���� — 

��� ��
�� ����, ����������� 
�����#� � ��'�% ���
� �')��� �� 
����!-

���! �� ������
, � !��!���! ���
�
�% ���"
� ���������������� 
���-

�
���.  �
�� �������
� ���%������� �������
�*����! ��+
��. �����-

�
������� ������������� ���� — ��� ����, ����������� 
�����#� 
�-

���!���! �� ���"
� � ������������, �� 
 � �����
�� ������
, 
 !��!��-

�! ���
�
�%, 
�
 ���������������� 
����
���, ��
 
 ������
.  �
��

�������
� ��
������ ���������
�*���! �����!�
�, ���������% ��+
�.  

,�
���
� �������� ���������������
, 
�
 
 ���#
� ���#
� �
-

�
���

� ���������, ��+�� '��" ���&�������� �� ������ �
�������
-

��"��� �������
% � ������� ���
�������, ���������� �������
!�


�������
���
�% �
�


. 

� �'&�� ������, ������������� ���� T = T(x, �, z, t), ���������-

���&�� �������
�

T(x, �, z, t) = f(x, y, z, t)  (1) 

!��!���! ���������������-���������-���� (��-�������). 

�������
� ���������������
 
�
 �������
� .��"�: 

/T//t = a0T,   (2) 

#�� � – 
����
�
��� ���������������������
, 
�����% ���
�
� �� �
-

�
���

� ���%��� �����
����, � ����+��
�
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2

2

2

2

2

2

zyx ∂

∂
+

∂

∂
+

∂

∂
=∆ ,  (3) 

!��!���! ���������� 1������ � ��
������% �
����� 
����
��� ��!

��-������% ���������������% �'����
 ���������
! ������������#�

���! (1). 

(�
 �����'��
� ��#��
���� ��������
! ������ ��� �����
, 
���-

��� ��
���
��! ��*��" ������������: ��! ������%

 
������� �����-

���
! �����������% ���'����! ����" �
���

� 
����� ��������
!; ����

��'���" ����� 
������!. 2����� �
���


 ����+��� ���'���
����



����"�����
! �������
% � ������� ���
�������. 3����� �'��#����

����� ��������
! ���"����� ����&��
%. �� ����� �������

 ����

�

�'��&��� ��
���
! �&� ���"*�. 

	��
 ��������� �
����
�����, �������% ���"� 
�����#� !��!-

���! ���������
! �����������
! ������������#� ���! �� ����#����%


��#��% �
�
���% �
��. 

� �����% ��'��� 
���������
! ��������
 �')�
���
 � ��������-

������
 ����������
 '�� ���
������ �
����
���� � ��#�����&�%


��#��% �
�
���% �
��%. ,� �����
� 
� ����
� �� ����
��"��� *�
�-

�����, ��
��������% �� ����
�, 
��#��% �
�
���% �
��. �����
 �����-

�!�� ��#��
�����" ������� ���&��
! 1000-2000 �'/�
�. 4
����
����

������
��! ��
 ������� 2000 �'/�
� (2
����
 1). 

5��
 ����
�
�" �
�����" �
���
!, �� �
�� �
�"��� #�����!. 2�'�-

�� ������
���" � ��
��
���% �
�����"�, ��! ��#� ���'� ���'
�
�
��-

���" ������������% ��+
�. 

������� 1 – ����� ������������� ��! ������"��
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2����"���� �����"��� �
����
������ ��+�� �
���" �� �
���
� 2-3 
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������� 2 – ��������#� ����� ���"�$ %�$ �����"�" %���#� � �������

&��'���!  (���%"������ �� �(��)���#�) %����"�! ���# " �� ���"���'�� ���

�����$��� ��� t=20    °°°°C 
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������� 3  ��������#� ����� ���"�$ %�$ �����"�" %���#� � �������

&��'���! (���%"������ �� �(��)���#�) %����"�! ���# " ���*���� ��&���$

(��������� �
����
������"��� ������ '��
 �'��'����� � ���-
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�� Matlab 
 ��
 ����&
 ������ ���&���% '��
 ��%���� ������������

���
�

 (�
����
 4): 

pe
p

W 18

117

2 −

+
=

; 

pe
p

W 14

115

62.1 −

+
= ; 

125

5.3

+
=

p
W . 

0 20 40 60 80 100 120
0

1

2

Step Response

Time (seconds)

A
m

p
lit

u
d
e

0 20 40 60 80 100 120
0

1

2
Step Response

Time (seconds)

A
m

p
lit

u
d
e

0 20 40 60 80 100 120 140
0

2

4
Step Response

Time (seconds)

A
m

p
li
tu

d
e

������� 4 – �+�+,���#! �������"���#! (��-�� %�����'����(� �&������$

����������#

�����: � �������� �
����
����� '��� �
���, ��� �����������

��#���� �
�
���% �
�� �� ����! �����
! '��� �� ����
�%. ,������%

��#��� ���
����
� � ���� �����
!. 3�����
� ����������� ��
 ������



�� ���� �����
! ����"*����!. (��������� �
���
���

� ���%���� ��-

����!�� �����+���", ��� 
����
������" �������� ��
+� ����
�
����-

�!, �� ���� ������
! �� ���� �����
!. 


